

Tire workshop equipment and tool

S/N	Name	Brand	Model	Quantity	price/FOB SHANGHAI	Amount	Ref. Picture	Parameters
1	30T shop press	HOTON	30T	1	\$311.6	\$311.6		30T SHOP PRESS WITH GAUGE RATED LOAD: 30T STROKE: 150mm MAX.WORKING DISTANCE: 820mm MIN.WORKING
2	Air Compressor	HOTON	1.0/8	1	\$576.8	\$576.8		Press:8kg Displacement:1.05M3 Power:7.5KW、380V With Air Tank:300L
3	cool dryer machine	Hoton	0.9/8	1	\$113.0	\$113.0		cool dryer machine, 0.9/8
4	Grinding machine220V/50HZ	JinDin	200MM	1	\$57.2	\$57.2		Grinding diameter of 200 (mm) rated speed multiple (R / min) Input power of 380 (W) 220Vsecurity line speed multiple (M / s)
5	Vise	HG	200mm	1	\$60.9	\$60.9		200MM
6	Containing 330 fast repair and maintenance tool kit	BESTIR	6663	1	\$578.0	\$578.0		Containing 330 fast repair and maintenance tool kit
7	parts box	Feiying	FY903	1	\$46.4	\$46.4		parts box,Three.
8	☐Honeycomb light (for wash and polish)	HOTON	1bay/7*4m	2	\$210.1	\$420.3		Using LED lights, each 0.6m, 8w, material aviation aluminum + light diffusion PC cover + connector Mainly used for fine washing
9	Light drum drum integration	HOTON	12M/12m	1	\$260.9	\$260.9		Light&Electronic line role drum integration

10	3D Four Wheel Alignment Machine	HOTON	HC3D-808	1	\$2,869.6	\$2,869.6		Two 3D digital camera, four goals target, equipment calibration only once the installation is complete, without periodic repetition, dynamic measurement, the low level of demand for lift, precision range
11	Lifter for wheel alignment(four legs)	HOTON	HC440W	1	\$2,144.9	\$2,144.9		Capacity:4T /1.7m Power:2.2KW/380V 1.mainly used for mini bus,2.accurate horizontal and adjustable,applied in kinds of wheel aligner
12	Two Post Lift (single release)	LAUNCH	TLT245 SCS	1	\$1,050.7	\$1,050.7		Manual single lock release Rated load: 4500kg Lifting height: 1850mm Initial height: 1100mm
13	Dynamic Wheel Balancer (No Cave)	HOTON	ZH825B	1	\$456.5	\$456.5		Max.wheel weight:65kg Power: 0.2KW Voltage:220V,Accuracy:±1g,Average Speed:220rpm,wheel dia.:10"-24",wheel width:1.5"-20"
14	24" Tire changer right help arm	HOTON	ZH650R	1	\$953.3	\$953.3		Rim clamping from outside: 10" -20" Rim clamping from inside: 12"-24" Bead-breaker force: 2500kg Max.wheel diameter: 41"(1040mm) Wheel width: 3" - 14"(355mm)
15	Tire inflation machine(06.8kg)	FLYSP EED	FS301	1	\$181.2	\$181.2		Max E51 Specifications Power supply 220V/50-60Hz Operating pressure range 0-6.8bar(0-99psi) Default pressure value 2.2bar(32psi)
16	Brake drum&disc machine	Longshan	C9335	1	\$1,243.5	\$1,243.5		Range of Processing Diameter 180-350 Brake Drum 180-350 Brake Disc180-350 Rotating Speed of Work-piece (r/min) 90 Max. Travel of Tool (mm) 100 Overall Dimensionsmm (L
17	working lamp assy.	QS	12M	2	\$37.7	\$75.4		high reliability, 15m

18	working air assy.	QS	12M	2	\$37.7	\$75.4		high reliability 12m/8mm
19	1/2 pneumatic wrench	HOTO N	HL316	1	\$46.4	\$46.4		1/2 1020NM/2.7KG
20	torque wrench (charge)	HOTO N	R680	1	\$52.2	\$52.2		1/2—/350NM 2x20v 4.0battery
21	LH2303 3T low position double pump jack	LAUNCH	LH2303	1	\$72.2	\$72.2		Rated load: 3000kg Lifting height: 505mm Initial height: 75mm Package: 80x38x20cm Weight: 34.2kg
22	TPMS tester	LAUNCH	TPMS50 1S	1	\$79.7	\$79.7		Features Covers over 98% global vehicles with tire pressure system. ★Activate and match
23	LTR03 RF Sensor	LAUNCH	LTR03	40	\$9.4	\$376.8		Features 1. Compatible with over 98% of OE level sensors in 315MHz and 433MHz.
24	Eccentric Bolts	HOTO N	10, 12, 14, 14.5, 15, 16.17.1	40	\$1.6	\$64.9		Supplies for tire
25	U-shaped gasket	HOTO N	0.2,0.4, 0.6,0.8, 1.0	2	\$11.2	\$22.3		Supplies for tire
26	Four air gun	HOTO N	TG-916	1	\$15.2	\$15.2		Supplies for tire
27	High-quality 20-	HOTO N		2	\$6.1	\$12.2		Supplies for tire
28	Graffiti crew sets	HOTO N	SP2110	1	\$16.2	\$16.2		Supplies for tire

29	Tire grease	Supplies	HC9604	1	\$7.1	\$7.1		Supplies for tire
30	Tire repair film	Supplies	HC9605	2	\$4.1	\$8.1		Supplies for tire
31	Tire repair glue	Supplies	HC9606	2	\$3.0	\$6.1		Supplies for tire
32	Balance weight (30kg)	Supplies	HC9608	1	\$60.9	\$60.9		Supplies for tire
33	Balanced block stick	Supplies	HC9609	3	\$7.1	\$21.3		Supplies for tire
34	Valve (package)	Supplies	HC9610	2	\$12.2	\$24.3		Supplies for tire
35	Valve core wrench	Supplies	HC9611	2	\$10.1	\$20.3		Supplies for tire
36	Valve core	Supplies	HC9612	2	\$2.0	\$4.1		Supplies for tire
37	Pressure roller	Supplies	HC9613	1	\$2.0	\$2.0		Supplies for tire
					合计	\$12,387.8		

Shanghai HOTON Auto equipment, FOB shanghai 02159159353 13801993101 CONTACT: MR John, 1PC 40 CONTAINER